[ 2.5 ] Moment Generating Functions
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Sometimes the X is d‘rop ed from the formula and we
write M(t) instead. Use whenever it is necessary.

in other words, it exists
in a neighborhood of 0




Assume X is discrete and finite valued. In

TX* general, this is not necessary (it can be
-~ continuous too)
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Factorial Moments
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Note that the Factorial
moment generating
function must exist in a

neighborhood of 1 (not 0
like for a normal MGF).
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Evaluating at zero
here is not a misprint!
This will allow you to
generate probabilities




Y WS rq
jorsh ip - Neke ot Mﬂu&r C
Note the ot f [@Mq - gleaw XJ . V]ﬂ(}"t)/ b derived  from Y dactorved

Gyl = féf%x] "€ poments.  For brawmple”

i 769 T K s FIO

G L7 &
6)’; () = g(x.(x-t)—k

S ) 5x“); m")

£[x( m)] = f ( ¥-x) = E(X)-€)

= g(P)> E[K(x—l)]i'f(x)
_ é&(\) ¢ é;(n

D
I

You just need to be willing to do the algebra

(v _ . .; to solve for the others. Reasons for doing it
GX ( \) - XCX") ( X f"‘t'f) | |usually only occur with discrete

distributions.




